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Australians -

7'}_2 = lboo
DTJ = 142
S, = 6.3 cm

EJE I hg_F"_otl1€-§i'S : H,
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the same mean height.

E‘Q') HO : I.J' = HJ
. a _ "ed ’E'e5e)
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Level 3& Significance : At A =5 /-, Z, = t-645
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Decision - .
Since 1zi >3, Hy is E{ejected  Mence we conclude

that there is .éigni[)—u'ccuu- df'“erence between +the
r’Sar’nPfc nmeansc

’ (3) Test the signifiicance of the difference between
normal
the means (36 the /sampleg jdﬁaw’n ﬁrom two

: lowin
Populations with the Same SD %Yom the ﬁo =4

data:
‘ ,,,___.___“,__.___.___F
Size { Mean } & |
—Sample 1 oo 61 i
Sample ZJ 200 b3z L
Solution :
Giiven I n, = 100 9-2-, e Bl r‘sl = 4
AP
nl = 200 ) 7&___1 = b= B /54 = 6

: dx T
Null hypothesis : H, : The ~Samples awn ’fj om
the +wo Normal POPLLlOtI-OM hﬂl_VQ the ~Same mean
tith the Same SD. i-e, H, Hi = Ha

Altevnative hypothesic : H, © W, # Ha (Two-tailed tesk)

.'Lavelgg Siﬂni&'cﬂnm: Ab & =5 , Z, 6 =1-9
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